H & 0l & AHS B Ml A

SA: SAITHA D
M HEE AR
Rl B2 Al EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
AL TH24 10 25,441,531 17,328,061 8,113,470
= 2,341,460 2,337,860 3,600
& 278,000 278,000 0
s 22,822,071 14,712,201 8,109,870
A2 AZH 24,761,334 16,820,434 7,940,900
= 2,341,460 2,337,860 3,600
[ 88,000 88,000 0
= 22,331,874 14,394,574 7,937,300
G Al 15,344,556 12,334,556 3,010,000
SAAE =8 80,920 70,920 10,000
201 er23 | 55,220 55,220 0
01 At2teltl 32,720 31,720 1,000
cEXFEEI} S/W KX2ell
1,000,000 1,000 0 1,000
2 3322l 22,500 23,500 21,000
oEXALEI S/M |XI2elt]
38 02 0 1,000 21,000
401 AlZBIL LY 10,000 0 10,000
01 AlEZHI 10,000 0 10,000
ozl HE HWEH 24
10,000,000 10,000 0 10,000
H2XoIE e 15,130,000 12,130,000 3,000,000
403 AXIEHMSAH=0IE 8,000,000 5,000,000 3,000,000
02 I 2 SoItHe = E AEASHI 8,000,000 5,000,000 3,000,000
oH2XIoHAE HEAS (=& et72t)
Z& 8,000,000,000& 8,000,000 5,000,000 3,000,000
IHE RISt 2tel 2,141,283 2,137,688 3,600
= 1,882,460 1,878,860 3,600
= 258,828 258,828 0
NS 22l (EX) 30,000 26,400 3,600
= 30,000 26,400 3,600
201 fer= 3| 30,000 26,400 3,600
z 30,000 26,400 3,600
01 At2teltl 27,000 23,400 3,600
SIHEHE RS 2 ARES 2Y S
d&d 27,000,000 27,000 23,400 3,600
z 27,000 23,400 3,600
SAIDHE 2t 7,268,260 2,340,960 4,927,300
= 459,000 459,000 0
[ 88,000 88,000 0
= 6,721,260 1,793,960 4,927,300
SANAHEEZ JHE 6,148,460 1,321,160 4,827,300
401 AlEBIL S THYI 6,136,300 1,309,000 4,827,300
01 AlZHI 6,127,300 1,300,000 4,827,300
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A SAITHAE D
M FATAXH

Chelr SADHE 2] EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
CcTAHECZR(E2XotiE) SCHZ X
S3AY 325,000,000 325,000 0 325,000
oHHE A2 TAIHEEZZE HEAM
1,500,000,000& 1,500,000 0 1,500,000
oHHE AT MY TAHEZZ W
A 500,000,000 500,000 0 500,000
oXAAH NUHDIE SAIHEEZ HEA
700,000,000 700,000 0 700,000
ofHH MROHUE 212 TAHEEZ F
HIAH 500,000,000 500,000 0 500,000
oM SNSE S22 XISSHAY
922,300,000 922,300 0 922,300
SEAAXIM @ QIE=FH|
350,000,000 350,000 0 350,000
oSdH AN SEFHIAIY HAIEH S
A 30,000,000 30,000 0 30,000
SAITHAY 202,400 102,400 100,000
401 A& BIL S THYI 100,000 0 100,000
01 Al£ZHI 100,000 0 100,000
oXNES UEXT TAMM &5 E &
g 89 100,000,000 100,000 0 100,000
FOXS MEOIA NZAIY (ZAH0HS) 752,000 752,000 0
= 459,000 459,000 0
[ 88,000 88,000 0
= 205,000 205,000 0
401 Al&BIL S THYI 402,000 752,000 A350,000
s 314,000 459,000 145,000
< 88,000 88,000 0
= 0 205,000 205,000
01 AlZHI 402,000 752,000 A350,000
oF XS MHEOAH HEAH
& 402,000,000& 402,000 752,000 A350,000
= 314,000 459,000 A 145,000
< 88,000 88,000 0
= 0 205,000 205,000
402 RIREXH=201 A 350,000 0 350,000
= 145,000 0 145,000
= 205,000 0 205,000
02 QI X2 AL EE(0IETHE) 350,000 0 350,000
oFAXNS YHEHA HEAE
350,000,000 350,000 0 350,000
= 145,000 0 145,000
= 205,000 0 205,000
Pl n] = 562,663 422,063 140,600
< 190,000 190,000 0
= 372,663 232,083 140,600
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EA SAITHA D
M MASXA
el s0E HOtEd =4 (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
s0HE HOISY =4 158,000 58,000 100,000
HOtEsE =29 158,000 58,000 100,000
401 AIEHIYL 20| 150,000 50,000 100,000
01 Al£HI 150,000 50,000 100,000
oHIOISE AIEE FAEx
& 150,000,000 150,000 50,000 100,000
3 d=0s2el 312,343 301,743 10,600
< 190,000 190,000 0
s 122,343 111,743 10,600
g4s=s02x4 43,708 33,108 10,600
401 Al&BIL S CHYI 40,600 30,000 10,600
01 AlZHI 40,600 30,000 10,600
oXdZaeE ZF(HE) L HLHET
o 2elHE 24 10,600,000 10,600 0 10,600
A=A =Y 33,980 3,980 30,000
SSFH gl ae| 33,980 3,980 30,000
401 AlEBIYL S THYI 30,000 0 30,000
01 Al&HI 30,000 0 30,000
olMgd QHAFE 2 XFRERAHE 8
= 30,000,000 30,000 0 30,000
MNP &S (ZAlITHAED}) 31,970 0 31,970
BEXE 31,970 0 31,970
BEXE 31,970 0 31,970
802 grat=JIE 31,970 0 31,970
01 =Ex3etE=a 28,970 0 28,970
oEEZS B AIHEE=E BEE TAIE Al
ZHOH-XIHEAY =10 BX BHEs
7,970,000 7,970 0 7,970
ST AITHMOMHIAY 208X BHES
21,000,000 21,000 0 21,000
02 Al - SHIEXZEHEZ 3,000 3,000
S0/ MEHANS SFLEAY T4
Bx3 tte=s 3,000,000 3,000 0 3,000
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